
 
 

   

1 

1 

1 

1 

 

 

 

1. Connector 
2. Wire 
3. LED Board 
4. Driver 

 

1. Terminal Block (plastic parts) 
2. Rubber Ring 
3. Rubber Bushing 
4. LILO Box 
5. Cable clamp 
6. LENS 
7. Plastic Cover 
8. Screw Cover 

1. Aluminium Can 
2. Aluminium Heatsink 
3. Aluminium reflector 
4. Bracket 
5. M3×8 Screw 
6. M3×8 Screw 
7. M3×4 Screw 
8. M4×12 Screw 
9. Terminal Block (metal parts) 

 
 

 
 

 

Insaver Slim Surface End of Life Recycling Instructions                                                      RI 16083A 

WEEE Recyclables PLASTIC Recyclables METAL Recyclables 

1 

1 

1 

2 

3 

4 

2 

3 

4 

5 

6 

7 

8 

2 

3 

4 

5 

6 

7 

8 

9 


